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1.
Introduction
In addition to the discussion document [1], we provide an example PDCP operation at handover with ROHC context transfer. It is assumed that the PDCP structure is as in Fig.1 which is same as option 3 of [1]. 
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[Fig.1] PDCP structure
It is easily understood that this structure works well for no ROHC context transfer. But, this document shows that this structure also works well for ROHC context transfer. Thus, ROHC context transfer function could be easily switched on and off with this structure.
2.
DL operation at handover
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[Fig.2] Example of PDCP DL operation at handover with ROHC context transfer

We’d like to explain how PDCP operates at handover taking Fig.2 as an example.
Suppose that IP packets up to 0 are correctly received and confirmed by UE, and the packet 0 was context update packet. Then, the context references of compressor and decompressor are V_ref_c=0 and V_ref_d=0, respectively. Now, Source eNB newly transmits packets from 1 to 5 to UE. Then, the packets 1, 2, 3 are compressed based on the last transmitted reference, V_ref_c=0, and the packet 4 is a context update packet, i.e. a packet with CRC attached, and the packet 5 is compressed based on a new reference, V_ref_c=4. During transmission, packets 2 and 5 are lost, and only packets 1, 3, 4 are correctly received by the UE. 

At UE, packet 1 is in-sequence, so it is delivered from RLC to PDCP, and further delivered to upper layer after deciphering and decompression. But, since packet 2 is missing, the packets 3 and 4 are stored in RLC buffer.
At this point of time, handover occurs.
Then, the UE delivers packets 3 and 4 from RLC to PDCP, where packet 3 is decompressed with V_ref_d=0, and packet 4 updates decompressor context to V_ref_d=4. After that, they are stored in the PDCP reordering buffer.
In the mean while, the Source eNB forwards to Target eNB all the unacknowledged packets, i.e. packets 1~5, and also the compressor context with V_ref_c=4.
When the Target eNB knows that packets 1, 3, 4 are correctly received by UE, it only transmits packets 2 and 5 to UE. In the Target eNB ROHC compressor, which packet type shall be used for the retransmitted packet depends on the RTP SN and V_ref_d. That is, if the RTP SN of the retransmitted packet does not cause any ambiguity in the decompressor, i.e. if the RTP SN of the retransmitted packet lies in the reverse decompression depth, the compressor can send them in any of ROHC packet types. Therefore, as far as there is no ambiguity, it is very likely that the Target eNB ROHC compressor sends the retransmitted packet as one of packet type 0, 1 and 2. Otherwise, if there is a big gap between RTP SN and context reference SN, then the compressor would send them in IR-DYN, or even IR packet.
In this example, since RTP SN is not much difference between packet 2 and V_ref_d, we assume that packet 2 is transmitted as one of packet type 0, 1, and 2. Moreover, the compressor attaches CRC (i.e. use R-0-CRC, UO-0, UO-1, or UOR-2) in packet 2 to update the decompressor’s context. Whether to attach CRC or not depends ROHC implementation.
When the decompressor in UE receives packet 2, reverse decompression is performed on packet 2 based on V_ref_d=4, and then update the context as V_ref_d=2 because packet 2 has CRC. Packet 5 is easily decompressed based on V_ref_d=2.
As can be seen in this example, no special handling for supporting ROHC context transfer is needed with this structure. If there is no ROHC context transfer, the Target eNB compressor just sends packets 2 as IR packet. 
2.
UL operation at handover
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[Fig.3] Example of PDCP UL operation at handover with ROHC context transfer

Uplink operation is very similar to downlink operation, except that UE and eNB switch sides. Thus, it is needless to explain the operation here again. It can be seen that ROHC context transfer is easily supported also in uplink.
3.
Proposal
Considering the simple way to support of ROHC context transfer, we propose to adopt option 3 in [1] as a LTE PDCP structure.
4.
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